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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & TE (B ESM)
G T
= 1 98, 335, 935
RCAG M T
= 1 30, 924, 841
E¥LT
= 1 6,721, 561
B4R 4 L
= 1 24, 203, 280
¥ Lavy)-h 18-8-40 (F%7) BUE 10cm
m2 80 3,238 259, 040
20—} 24-12-25(20) (@) — s/t
m3 222 27, 395 6, 081, 690
)=} 24-12-40 (B J) —MRaR/E
m3 153 27, 395 4,191, 435
AR SD345 D16~25
t 17.9 168, 453 3,015, 308
AR SD345 D29~32
t 23.54 150, 323 3, 538, 603
AR SD345 D35
t 5.41 151, 598 820, 145
AR SD345 D38
t 7.11 144, 765 1,029, 279
e — AT
= 1 3, 035, 830
k> B Ay MLEE
= 1 2,231, 950
G an
= 1 67,411, 094
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & TE (B ESM)
THAEK T
= 1 8,472, 338
TEAERRE L 4. 0omPd b
m3 2, 500 1,536 3, 840, 000
THAERME
m3 2, 500 1,271 3,177, 500
KA+ H [BEEREACER Py ity]
£ 154 9, 447 1, 454, 838
- F - B T
= 1 51, 839, 106
TVE =g LRy T ¢ 1500
VN 40 993, 955 39, 758, 200
SRR IR SEHSRAARERE S 12m #i%
WATAR 11 Tm EHSHRE D1k
£ 11.7m
bie 134 38,992 5, 224, 928
LA MMITEA
VN 40 59, 482 2, 379, 280
D) EkL L
t 48.7 91, 924 4, 476, 698
5P IE T
= 1 3, 565, 080
V5 IET A e 7n—b ¢ 300 1-7vEIm
m 120 29, 709 3, 565, 080
RmE T
= 1 3, 534, 570
AW B
= 1 3, 534, 570
B TR
= 1 98, 335, 935
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
I L
= 1 16, 985, 570
B3 TS
= 1 7,191, 779
TR
= 1 6, 180, 350
TR B oy MR ST A
= 1 4,334, 775
IERA TR
= 1 1, 845, 575
et By
= 1 57, 560
B R AT I ERE
= 1 57, 560
BIGREsET (K30
= 1 953, 869
HIBGERE (FE L)
= 1 9,793, 791
Wi
= 1 115, 321, 505
B
= 1 33, 985, 822
T AT
= 1 149, 307, 327
— R
= 1 23,992, 673
TS
= 1 173, 300, 000
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
THEBLF Y %H
= 1 17, 330, 000
TH#EG
= 1 190, 630, 000
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